Homework for Youtube video 3-26-20
Modified version of 2008 #5

A study was conducted to determine where moose are found in a region containing a large burned area. A map
of the study area was partitioned into the following four habitat types.

(1) Inside the burned area, not near the edge of the burned area,
(2) Inside the burned area, near the edge,

(3) Outside the burned area, near the edge, and
(4) Outside the burned area, not near the edge.

The figure below shows these four habitat types.

Habitat Type Proportion of Total Acreage Numcl))igeorfvle\/(lioose
1 0.340 25 Note: Figure not drawn to scale.
2 0.101 22
3 0.104 30
-} 0.455 40
Total 1.000 117

The researchers who are conducting the study expect the number of moose observed in a habitat type to be
proportional to the amount of acreage of that type of habitat. Are the data consistent with this expectation?

(a) Calculate the expected counts for the number moose observed in each habitat type, assuming
the researchers claim is true.

(b) Find the chi-square test statistic.



